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Math 1300
Homewor k 10
Section 2.4

2.4.8b Identify the slope only.
-6

-3

6

3

None of the above

2.4.16 ldentify the y-intercept only.

_4
3
-2

None of the above

2.4.22

y=5x-4
y=-4x+5
y=-4x-5
y=-4x+1

None of the above

24.2
1
=-—x+1
y 2
1
=-—X+2
y 2
y=-2X+2
y=-2x+1

None of the above
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2.4.24

3
=-—X-2
Y 4

3
=-—Xx+4
Y 4

3
=-—X+2
Y 4

3
=-—x-17
Y=

None of the above

2.4.26
=lx+2
5

1 2
==X+—

5" 5
5" 5

1
=—X+6
Y75

None of the above

2.4.28
y=-3x-7
1
=-—Xx-7
y 3
y=-3x+1
1
=-—x+1
y 3

None of the above

2.4.30
5
=—x=7
!

4
=—x-7
Y7

y=5y-3
4° 4
g4y 3
5 4
None of the above
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2.4.32
1
==X+6
Y73

T & ©

y=3x+6
1

=—X-2
Y 3

y=3x-2
e. None of the above

o

o

10. 2.4.34

a y=Ltxs8
' 5 5

b. ="x-=
y 5 5
1
C. y==X+6
y 5
1
d y==x-6
y 5

e. None of the above
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